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; - 22, Which of the following Academies is responsible for fostering the development of dance,
drama mmic ln India ?
h‘ (A Natior 0ol of Drama (B) Sangeel Natak Akademi
| (D) Lalit Kala Akademi
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4 m mm' age of 4 brothers is 12 years. If the age of their mother is also included,
‘ "".' ﬁ‘m ge is increased by 5 years. Calculate the age of the mother in years.
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s 14 kgs more than the weight of his wife. His wife weighs 23 kgs more
, who weighs 29 kgs. Calculate their average weight in kgs.
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42. A person can run around a circular path of radius 2
the same person run a distance of 3 kms ? -
(A) 16 mins (8) 16 mins 20 s6c
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43. A man buys a radio for Rs. 1,40
of the radio ? ¢ (©)
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44. A seller allows a discount of 5% on a watch. If he allows @ _d!acount GE 1 Toy)
Rs. 15 less in the profit. What is the marked price 2
(A) Rs. 697.50  ( s,712.60 . (C) Rs. 750,
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(D) also

Tl mn makes no mistake.

(B) A ~(C) An (D) None
St your watch ?
(B) by . (C) on D) at
largest country in the world.
) the (B) a (C) one (D) almost
children were playing the ground.

(B)“over (C) on (D) above

he word which is similar in meaning to the words given below

(C) Pain (D) Shock
_ «fB]’?ura 2 (C) Sudden (D) Slow
me) Funny (D) Fall
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© Profilsrate (D) Prolffarate

p Manigerial () Managerial
- (C) Evacuete (D) Evecuate
whic I8 exactly opposite to the meaning of the word

(C) Inembark ~{D) Debark
~(C) Optimist (D) Elitist

(C) llicourteous (D) Acourteous
n-oyal  (C) Disloyal (D) Unloyal

(C) Sudden (D) Magical
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